M-A2-2-1_Lesson 1 Extension Activity and KEY


Extension Activity

Sketch the following equations without using a graphing calculator.

1.  y = (x − 2)2 − 3

2.  y = 
[image: image1.wmf]4

1

(x + 4)2 − 1 

3.  y = −2(x + 1)2 + 5

4.  y = (x − 3)2 + 2

Extension Activity ~ KEY

1.  y = (x − 2)2 − 3

parabola (opens upward) with vertex at (2, -3); should go through (0, 1) and (4, 1)
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2.  y = 
[image: image3.wmf]4
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(x + 4)2 − 1 

parabola (opens upward) with vertex at (-4, -1); should go through (0, 3) and (-8, 3)
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3.  y = −2(x + 1)2 + 5

parabola (opens downward) with vertex at (-1, 5); should go through (0, 3) and (-2, 3)
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4.  y = (x − 3)2 + 2

parabola (opens upward) with vertex at (3, 2); should go through (1, 6) and (5, 6)
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